Trigonometric Ratios

Name:

----> Trigonometric Ratios -- Find the sine, cosine, and tangent ratios of an angle of a right

triangle, given the lengths of the sides

1 The diagram below shows right triangle UPC.

U

17

=]

Which ratio represents the sine of ZU?

15 15 8 8
D 8 2) 17 3) 15 4 17

2 Which ratio represents sinx in the right triangle

shown below?
53
28
] X
45
28 28 45 53
D 53 2) 45 3) 53 4 28

3 Which ratio represents the cosine of angle 4 in the
right triangle below?

B

4  Which ratio represents cos4 in the accompanying
diagram of A4ABC?

R""mxﬁ
MA_"—-_JS
5 T
H“*xh
cH = —=B
5o 12 4 12,0 13
D 13 2) 13 3) 5 4 5

5 Inright triangle ABC shown below, what is the
value of cosA?

A 16 B

12
20

Cc

12

16
1) 20

20 20
2) 20 3) D) 4) 16
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6 In the accompanying diagram of right triangle ABC,
AB=8,BC=15,AC=17,and mZABC = 90.

A
17
8
B C
15
What is tan ZC?
8 17 8 15
D 15 2) 15 3) 17 4 17

7 The diagram below shows right triangle ABC.

Which ratio represents the tangent of ZABC?

5 5 12 12
1)1_32)ﬁ3)1_34)?

8 The diagram below shows right triangle LMP.

i

M 4 P

Which ratio represents the tangent of ZPLM?
3 3 4 B
1) ) 2) 5 3) 3 4) )

Name:

9 Right triangle ABC has legs of 8 and 15 and a
hypotenuse of 17, as shown in the diagram below.

A

] B

15

The value of the tangent of Z/B is
1) 0.4706 2) 0.5333 3) 0.8824 4) 1.8750

10 In triangle MCT, the measure of £T = 90°,
MC =85cm, CT =84 cm, and TM = 13cm. Which
ratio represents the sine of ZC?
13 84 13 84
1)§2)g3)g4)ﬁ
11 In AABC, the measure of ZB = 90°, AC = 50,
AB =48, and BC = 14. Which ratio represents the
tangent of £A4?

14 14 48 48
1)%2) 48 3)%4)ﬁ

12 Which equation shows a correct trigonometric ratio
for angle 4 in the right triangle below?

B
17 cm
8cm
c 15 cm A
ind =15 -8 _15
1) sind = T 2) tand = 17 3) cosd = 7
4) tanAz%

13 In AABC,m/ZC=90. If AB=5 and AC =4,
which statement is not true?

1) cosd = 2) tand = 3

7 3) sinB=—

|k

4) tanB =

Wl ns





